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Math 110, 112 Practice Quiz # 8 – Sections 4.4- 4.5
Equations of Lines, Graphs of Linear Inequalities

Write the equation of the line from the given information.

1. m = 
[image: image1.wmf]3

2



y - intercept = 5

y = 2/3x + 5

2. m = 0; 
( -1, 4 )


y = 4
3. ( -2, 5 ); 
( 6, 3 )



y = -1/4x + 9/2
4. The line is horizontal and contains the point ( 3, -2 ).
y = -2
5. The line contains the point (-2, -4) and has the same slope as the line whose equation is y = ½ x + 5. 

y = 1/2x – 3 
6. The line contains the point ( 3, 7 ) and has the same y – intercept as the line whose equation is 2x – 3y = 6.
y = 3x – 2 
7. The line contains the point ( 2, -1 ) and is perpendicular to the line whose equation is             x + 4y = 8.


y = 4x – 9 
8. The line contains the point (3, 6 ) and is perpendicular to the x-axis.

x = 3
9. The size of a graduating class increased from 200 students in the year 2000 to 350 students in the year 2003. Write the equation of the line representing this change. Let x represent the number of years since 2000.
y = 50x + 200
10. Graph the following inequalities.
a. [image: image3.png]


 y > 2x + 3
b. x – 2y > 4 and y <  -x + 1.
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